GROWATT

Quick Installation Guide
ALP 5.0L-E1-AU

Shenzhen Growatt New Energy Co.,Ltd.

Installation environment

Max.+50°C

s

Min.-10°C

RH.+5%~+95%

Installation tools

The following tools arerequired to install the PACK:

5mm Allen key

Screw Driver

r o —
i
-lmmfIE: P i S

right trim cover *1

left trim cover *1

3.Basicinstallation requirements

Check the accessories

/Q*B R 6

Floor-mounted Installation

Outdoor installation

d & *4
i i Impactdrill
Measuring tape Multimeter p ALP 5.0L (AU) Wall bracket Base
2000mm 1900mm
Marker i_%lEll 1) = [[={iak
2000mm 1900mm
i_%llEll | (D)
Dimensions 2000mm 3000mm
Unit:mm 2000mm 1900mm
690 185 ALP 5.0L Cable ALP 5.0L Parallel Cable
GROVIATT
a Installation Method Compound Mode
=Y
Standard wall-mounted installation A*N+B+D
Standard floor-mounted installation A*N+C+D
Wall-mounted battery system stacked in two A*N+B*2+D+E
1.Check Floor-mounted battery system stacked in two A*N+C*2+D+E
Check the Packing List Note: “N” stands for the number of batteries.
2.Introduction to the battery operation panel
o @ off ®| |
@‘ o Pcs o
1 1 LED
2
3 2 PCS CAN communication
Positive Parallel Power cable*1 4 L
ALP5.0L (AU)*1 Negative Parallel Power cable *1 5 3 | LINK-IN CAN communication
\\ j Parallelcommunicatign cable*1 4 Negative terminal
f \ Parallel ground cable*1 6
5 Positive terminal
7
i wWarranty 6 USB interface
it | T\ .
a Z h J -,
el Certificate of| \:4/ @ 7 DC breaker
conformity 5
8 Power button
Protective rubber ring *4 10
Quick installation Manual *1 Anti-tipping plate *2 4 9 LINK-OUT CAN
User Manual *1 M6 expansion bolt *2 9 communication
Warranty card *1 M4x9 stainless steel screw *8 & ]
\_ Certificate of conformity *1 j Battery connecting piece *2 ) ) o 10 GND terminal
2 3

£
£ -_
% --_-— Marker
| |
( : I B
- W\, \ I -
> IR Loy i e e S
- T~ N :—_-_
el - ~ = [ | --
/‘/ S N } I } \ -:-_-—
(. | —-—-
Wall _ o | 1 o
= NI | Wall | Wall e
= =300mm  [[= >300mm ! --.
Q’Qf %
‘ ‘ | | ) Insta!l the connecting pieces on both sides . Keep the battery level.
and tighten the two screws.
Ground Ground Install the anti-tipping plates on both sides and. Mark the hole position to fix the battery
tighten the two screws. module.
1S IS
£ s (2)
A A 2
e N
E
= g = @ Note:Whe.n mstalllng outdoors, build a sun and rain shade to avoid direct exposure to the T —5
- ¥ — sunlight and rain.
Vi
= E =
(=]
3 ® ®
— — g
4. Installation 2 Dia 8.0
M6 expansion ta8.omm [ e
\ \ \ | . . screw
‘ ] Hole dimensions )
(Unlt: mm) Marking-off
roun template —
Ground Deep45~50mm‘ .
Note:Do not turn the PACK upside down, and ensure that the floor is level. N J
A maximum of 5 battery packs can be stacked. If there are more than 5 of them, 643 . Mark the hole positions to install the batteries.
please install them in two lines. .... Install the M6 expansion bolt and tighten
the nut.
Wall-mounted Installation
€)
> 300mm . Install the anti-tipping plates on both sides
_ to
& o o
= 2 3
= 300mm = 300mm = - _
= o) Q
= o ©
s
£ 3 &
— £
o
e
~ -
|— : :
N % Secure the connecting pieces on both sides of the
Ground Ground ‘ .battery module using the M4x9 screws, and tighten the
Left = ==Right 6 screws. ) ) ) )
. Install the connecting pieces on both sides and tighten
. . . . the two screws.
Note:The number of battery modules in wall-mounted installation should not exceed five.
Ensure that load capacity of the wall exceeds 280kg.
4 5 6




Wall-mounted Installation

Hole dimensions

(unit: mm)

643

1380

1414

1085

790

1119

824

495

529

Right]

‘ Keep the bracket level.

the bracket.
‘ Drill eight holes.

Marker

Mark the mounting hole positions on the wall forinstalling

“ Fix the wall bracket to the wall. ‘ Installthe battery module on the wall bracket.

. Installthe anti-tipping plates on both sides and. Mark the hole position to fix the battery

tighten the two screws.

module.

Marker

(&)

d
M6 expansion
screw

Marking-off

template

-

Deep45~50mm‘

@ Markthe hole positions to install the batteries.

.... Install the M6 expansion bolt and tighten

the nut.

6 screws.

. Installthe connecting pieces on both sides and tighten

the two screws.

Install the anti-tipping plates on both sides

to fix the modules to the wall.
<

Secure the connecting pieces on both sides of the
. . battery module using the M4x9 screws, and tighten the

5.Electrical Connection

Communication terminal

Battery side Battery side

Wire side /

Wire side

74
7/

Power terminal

Battery side

Battery side Wire side

T — Wire side
./
4
1]
= Press

—)
| N—)

Single-column wiring

TOPCS

ALP 5.0L Cable

@gmm EW@'

Note:

1.The batteryis not allowed to be installed in the running state, and all the RUN lights of battery
modules should be off before installation.

2.To ensure system security, do not forget to install the ground cable.

3.Forthe power cables connected to PCS, the positive power cable is drawn from the top battery

Two-column wiring

ALP 5.0L Cable

TO PCS

-

Cable raceway

Installthe Trim Cover

e, ﬂl
i
dhis
T

d

=S

oMMM [
)
i

/

Bottom battery

Top battery

Power on the PACK by PCS

1 Connectthe battery and PCS

Make sure the wiring harnesses are well
connected

2 Switch on the breaker of the PACK

Make sure the breakeris ON

Power onthe PCS. PCS outputs a

58V

wake up signal of 5V or an output
main circuit voltage signal of 46-

1.1f both RUN/ALM and SOC lights turn on
normal, PACK powers on successfully.

2.I1f RUN/ALM light turns red, there is a fault
and you should solve it before powering on
the PACK again.

Power off

Press the power button to turn off the PACK and five LED lights will flicker three
times. If multiple packs are connected in parallel, turning off one of the PACKs will

7.Service and contact

T +86 7552747 1942
E service@ginverter.com
W en.growatt.com

Shenzhen Growatt New Energy Co., Ltd.

4-13/F, Building A, Sino-German (Europe) Industrial Park,
Hangcheng Blvd, Bao'an District, Shenzhen, China

A f JinjOJol X

(O\ Growatt New Energy ]

Download
Manual

GR-UM-309-A-01(PN:044.0110401)

6.Power on and off the Battery

Power On

1.Turnthecircuit breakertothe “On” position.
2.Press the POWER button for 3 seconds. Observe the LED indicator on the panel.
3.The battery LED indicator lights up to indicate that the battery has been turned on.

Power on the PACK by pressing the power button(t>3S)

Serial

Procedures

Acceptation criteria

Connectthe battery and PCS

Make sure the wiring harnesses are well

connected

Switch onthe breaker of the

Make sure the breakeris ON

Press the POWER button for three
to five seconds. Observe the LED
indication on panel.

1.1f both RUN/ALM and SOC lights are on

normally, PACK is powered on successfully.
2.I1f RUN/ALM light turns red, there is a fault. Do

notrestartthe equipment untilthe faultis

9

10

11

12




	044.0110401 ALP 5.0L-E1-AU英文快速安装手册-正面--2024.11.4
	页 1

	044.0110401 ALP 5.0L-E1-AU Quick Guide EN
	044.0110401 ALP 5.0L-E1-AU英文快速安装手册-正面--2024-8-19-转曲
	页 1

	ALP 5.0L-E1-AU Quick Guide EN




